
There ＋ is / was
are / were 主語Ａ 場所Ｂ＋

Ｂに

＋

Ａが ＋＋ あります/ありました
います/いました

There is a park in this town.

公園が ありますこの町に

There was a girl in this room.

① there は訳さない

② 主語Ａが単数形 is / was

② 主語Ａが複数形 are/were

There are two boys in the car. There were many pens on the box.

その箱の上に 多くのペンが ありました２人男の子が います車の中に

いました女の子がこの部屋に

例文１ 例文２

例文３ 例文４

There is / are の文

否定文の作り方

There is a park in this town.

There is not a park in this town.

この町に公園があります。

この町に公園はありません。

There ＋ is / was
are / were 主語Ａ 場所Ｂ＋＋ not ＋ ．

疑問文の作り方

There is a park in this town.

a park in this town ？

この町に公園があります。

この町に公園はありますか。

thereIs / Was
Are / Were 主語Ａ 場所Ｂ＋＋ ＋ ?

Is there

Yes， there is. No， there is not.is No， there isisn't.

Yes， there is. No， there is not.is No， there is～n't.

はい，あります。 いいえ，ありません。
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